Homework 15 Solutions

8. a) Dy = x+q3 D = g4 Z =qy+0q2
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MNote that at the first clock when x is not known, the next state is 0 0 or
1 0; thus gz is 0. The output is 1 in either of those states. From those
states, the only possible next state is 1 0 or 1 1; thus q> goes to 1.
Finally, from these two, the next state is either 0 1 or 1 1, making

gz = 1. That is far as we can tell anything.

b) Jy=x'B Kg = x Jg = x' Ke=xA' z = x'A" + xB
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Homework 15 Solutions

If you prefer using ABCDE, then SI = A, S2 = B, etc...

How we might continue to define our circuit — would have to use “don't cares”

16 a.
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State Table

q x=0 qg* X = Z

S1 S2 S1 0

S2 S3 S1 0

S3 S3 S4 0

S4 S1 S5 0

S5 S1 S5 1

q:q2qs3

g x=0 g* X = Z
S1 000 001 000 0
S2 001 010 000 0
S3 010 010 011 0
S4 011 000 100 0
S5 100 000 100 1
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Homework 15 Solutions

If you prefer using ABCDE, then SI = A, S2 = B, etc...

16 e.

State Diagram

1/0 @ 0/0

State Table

q x=0 g* X = = =

S1 S2 S5 0 0

S2 S3 S5 1 0

S3 S3 S5 0 0

S4 S2 S4 0 0

S5 S2 S4 0 1

How we might continue to define our circuit — would have to use “don't cares”

Q1923

q x=0 qg* x=1 = =
S1 000 001 100 0 0
S2 001 010 100 1 0
S3 010 010 000 0 0
S4 011 000 011 0 0
S5 100 001 011 0 1
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